International Journal for Multidisciplinary Research (IJFMR)
E-ISSN: 2582-2160 • Website: www.ijfmr.com • Email: editor@ijfmr.com

# Estimated Solutions of Intigral Equations Arising In Some Applications of Science and Engineering 

P Madhura Subhashini

Associate Professor, B V Raju College


#### Abstract

: We present the numerical solution of the Fredholm Integral Equations by using the analytic method (Adomian Decomposition Method). To exhibit the correctness and efficacy of the projected method (ADM), some numerical examples have been performed. A Fredholm integral equations is solved by ADM which gives us the fairly accurate solution of the problem that tends to the exact solution of the problem.


Keywords:Adomian Decomposition Method, Integral Equations,Fredholm Integral Equations, Numerical Example. Adomian Decomposition Method

## Adomian Decomposition Method

The Adomian Decomposition method (ADM) is very commanding technique which considers the inexact solution of a nonlinear equation as an infinite series which essentially converges to the exact solution in this paper, ADM is proposed to solve some first order, second order and third order differential equations and integral equations. The Adomian Decomposition method (ADM) was firstly introduced by George Adomain in 1981. This method has been applied to solve differential equations and integral equations of linear and nonlinear problem in Mathematics, Physics, Biology and Chemistry up to know a large number of research paper have been published to show the possibility of the decomposition method.

## Proposed method for solving the Fredholm integral equation.

The type of integral equation in which the restrictions of the integration are constant, in which $a$ and $b$ are constant are called the Fredholm Integral equations, and is given as

$$
\begin{equation*}
\emptyset(x)=f(x)+\rho \int_{a}^{b} K(x, t) \varnothing(t)(t) d t \tag{1}
\end{equation*}
$$

Where the function and the kernel are given in the advance, and $\rho$ is a parameter. In this division, the procedure of the Adomian decomposition method is used. The Adomian decomposition method connecting the decomposing of the unknown function $(x)$ of any equation into a addition of an infinite number of constituents defined by the
decomposition serie

$$
\begin{equation*}
\emptyset(x)=\sum_{n=0}^{\infty} \emptyset_{n}(x) \tag{2}
\end{equation*}
$$

Or In the same way

$$
\emptyset(x)=\emptyset_{1}(x)+\emptyset_{2}(x)+\emptyset_{3}(x) \pm \cdots
$$

When the constituents $\emptyset_{n}(x), n \geq 0$ will be resolved.
The Adomain decomposition method analyze itself which discover the components $\emptyset_{0}(\mathrm{x}), \emptyset_{1}(\mathrm{x}),, \emptyset_{2}(\mathrm{x}) \ldots$

To classify the recurrence relation, we substitute (2) into the Fredholm integral equation (1) to get

$$
\begin{equation*}
\sum_{n=0}^{\infty} \emptyset_{n}(x)=f(x)+\int_{a}^{b} K(x, t) \sum_{n=0}^{\infty} \emptyset_{n}(t) d t \tag{3}
\end{equation*}
$$

The zeroth component $\emptyset_{0}(\mathrm{x})$ is spotted by all terms that are not comprises under the integral sign. This signifies that the components $\emptyset_{n}(x), n \geq 0$ of the unknown function $\varnothing(x)$ are totally resolved by the recurrence relation.
$\emptyset_{0}(\mathrm{x})=\mathrm{f}(\mathrm{x}), \emptyset_{n+1}(x)=\int_{a}^{b} K(x, t) \sum_{n=0}^{\infty} \emptyset_{n}(t) d t, n \geq 0$
Or correspondingly

Thus the solution of the Fredholm Integral equation (1) is easily acquired in a series form by make use of he series as assumption in (2)

## Applications of Fredholm Integral Equations:

Consider the linear Fredholm integral equation

1. $\varnothing(\mathrm{x})=\sin \mathrm{x}+1+\int_{0}^{\pi} \sum_{\mathrm{n}=0}^{\infty} \phi(\mathrm{t}) \mathrm{dt}$

Let $\emptyset(x)=\sum_{n=0}^{\infty} \emptyset_{n}(x)$

$$
\begin{gathered}
\emptyset_{0}(x)=\sin x+1 \\
\sum_{n=0}^{\infty} \emptyset_{n}(x)=\sin x+1+\int_{0}^{\Pi} \sum_{\pi=0}^{\infty} \emptyset_{n-1}(t) d t
\end{gathered}
$$

Now $\phi_{n+1}(x)=\int_{0}^{\Pi} \sum_{\pi=0}^{\infty} \emptyset_{n-1}(t) d t$

$$
\emptyset_{1}(x)=\int_{0}^{\pi} \emptyset_{0}(t) d t
$$

$=\int_{0}^{\pi}(\sin t+1) d t$
$=\int_{0}^{\pi} \sin t+\int_{0}^{\pi} d t$
$=(-\cos t)_{0}^{\pi}+(t)_{0}^{\pi}$
$=(-\cos \pi-\cos 0)+(\pi-0)$
$=(-1-1)+(\pi-0)$

$$
\emptyset_{1}(x)=-2-\pi
$$

$$
\emptyset_{2}(x)=\int_{0}^{\pi} \emptyset_{1}(t) d t
$$

$=\int_{0}^{\pi}(-2-\pi) d t$
$=(-2-\pi)(t)_{0}^{\pi}$
$=(-2-\pi)(\pi-0)$

$$
\begin{aligned}
\emptyset_{2}(x) & =-2 \pi-\pi^{2} \\
\emptyset_{3}(x) & =\int_{0}^{\pi} \emptyset_{2}(t) d t
\end{aligned}
$$

$=\int_{0}^{\pi}\left[-2 \pi-\pi^{2}\right] d t$
$=\left[-2 \pi-\pi^{2}\right](t)_{0}^{\pi}$
$=\left[-2 \pi-\pi^{2}\right](\pi-0)$

$$
\begin{gathered}
\emptyset_{3}(x)=-2 \pi^{2}-\pi^{3} \\
\emptyset(x)=\sin x+1+\left(-2-\pi-2 \pi-\pi^{2}-2 \pi^{2}-\pi^{3}+\cdots\right) \\
\emptyset(x)=\sin x-1+\left(-3 \pi-3 \pi^{2}-\pi^{3}+\cdots\right)
\end{gathered}
$$

2). $\varnothing(x)=x+e^{-x}+x^{2} \int_{0}^{1} \sum_{n=0}^{\infty} t \emptyset(t) d t$

$$
\text { Let } \emptyset(x)=\sum_{n=0}^{\infty} \emptyset_{n}(\mathrm{x})
$$

$=\sum_{n=0}^{\infty} \emptyset_{n}(x)=x+e^{-x}+x^{2} \int_{0}^{1} \sum_{n=0}^{\infty} t \emptyset(t) d t$
Where $\emptyset_{0}(x)=x+e^{-x}$
$=\emptyset_{n+1}(x)=x^{2} \int_{0}^{1} \sum_{n=0}^{\infty} t \emptyset(t) d t$

$$
\emptyset_{1}(x)=x^{2} \int_{0}^{1} t \emptyset_{0}(t) d t
$$

$=x^{2} \int_{0}^{1} t\left(t+e^{-t}\right) d t$
$=x^{2}\left[\int_{0}^{1} t^{2} d t+\int_{0}^{1} t e^{-t} d t\right]$
$=x^{2}\left[\left(\frac{t^{3}}{3}\right)_{0}^{1}+\left(-t e^{-t}\right)_{0}^{1}-\left(-e^{-t}\right)_{0}^{1}\right]$
$=x^{2}\left[\left(\frac{1}{3}-\frac{1}{0}\right)+\left(-e^{-1}-0 e^{0}\right)-\left(-e^{-1}-e^{0}\right)\right]$
$=x^{2}\left(\frac{1}{3}-e^{-1}+e^{-1}\right)$

$$
\begin{gathered}
\emptyset_{1}(x)=\frac{x^{2}}{3} \\
\emptyset_{2}(x)=x^{2} \int_{0}^{1} t \emptyset_{1}(t) d t
\end{gathered}
$$

$=x^{2} \int_{0}^{1} t\left(\frac{t^{2}}{3}\right) d t$
$=\frac{x^{2}}{3} \int_{0}^{1} t^{3} d t$
$=\frac{x^{2}}{3}\left(\frac{t^{4}}{4}\right)_{0}^{1}$
$=\frac{x^{2}}{3}\left(\frac{1}{4}-\frac{0}{4}\right)$

$$
\begin{gathered}
\emptyset_{2}(x)=\frac{x^{2}}{12} \\
\emptyset_{3}(x)=x^{2} \int_{0}^{1} t \emptyset_{2}(t) d t
\end{gathered}
$$

$=x^{2} \int_{0}^{1} t\left(\frac{t^{2}}{12}\right) d t$
$=\frac{x^{2}}{12}\left(\frac{t^{4}}{4}\right)_{0}^{1}$
$=\frac{x^{2}}{12}\left(\frac{1}{4}-\frac{1}{0}\right)$

$$
\emptyset_{3}(x)=\frac{x^{2}}{48}
$$

$: \emptyset(x)=x+e^{-x}+\left(\frac{x^{2}}{3}+\frac{x^{2}}{12}+\frac{x^{2}}{48}+\cdots\right)$

$$
\emptyset(x)=x+e^{-x}+\frac{x^{2}}{3}\left(1+\frac{1}{4}+\frac{1}{16}+\cdots\right)
$$

3) $\emptyset(x)=\frac{2}{3}+5 x+x \int_{0}^{1} t \emptyset(t) d t$

$$
\begin{gathered}
\text { Let } \emptyset(x)=\sum_{n=0}^{\infty} \emptyset_{n}(t) \\
\emptyset_{0}(x)=\frac{2}{3}+5 x \\
\emptyset_{n+1}(x)=x \int_{0}^{1} \sum_{n=0}^{\infty} t \emptyset(t) d t \\
\emptyset_{1}(x)=x \int_{0}^{1} t \emptyset_{0}(t) d t
\end{gathered}
$$

$=x \int_{0}^{1} t\left(\frac{2}{3}+5 t\right)$
$=\frac{2}{3} x \int_{0}^{1} t d t+5 x \int_{0}^{1} t^{2} d t$
$=\frac{2}{3} x\left(\frac{t^{2}}{2}\right)_{1}^{0}-5 x \int_{0}^{1} t^{2} d t$
$=\frac{2}{3} x\left(\frac{t^{2}}{2}\right)_{0}^{1}+5 x\left(\frac{t^{3}}{3}\right)_{0}^{1}$
$=\frac{2}{3} x\left(\frac{1}{2}-\frac{0}{2}\right)+5 x\left(\frac{1}{3}-\frac{0}{3}\right)$
$=\frac{2}{6} x+\frac{5}{3} x$
$=\frac{2 x+10 x}{6}$
$=\frac{12 x}{6}$
$=\emptyset_{1}(x)=2 x$

$$
\emptyset_{2}(x)=x \int_{0}^{1} t \emptyset_{1}(t) d t
$$

$=x \int_{0}^{1} t(2 t) d t$

$$
\begin{aligned}
= & x 2 \int_{0}^{1}\left(t^{2}\right) d t \\
= & 2 x\left(\frac{t^{3}}{3}\right)_{0}^{1} \\
= & 2 x\left(\frac{1}{3}-0\right) \\
=\emptyset_{2}(x) & =\frac{2 x}{3}
\end{aligned}
$$

and so on

$$
\emptyset(\boldsymbol{x})=\frac{2}{3}+5 x+2 x+\frac{2 x}{3}+\cdots
$$

4) $\emptyset(x)=e^{x}+1+\int_{0}^{1} \emptyset t d t$

$$
\begin{gathered}
\text { Let } \emptyset(x)=\sum_{n=0}^{\infty} \emptyset_{n}(x) \\
\emptyset(x)=\emptyset_{1}(x)+\emptyset_{2}(x)+\emptyset_{3}(x)+\cdots \\
\sum_{n=0}^{\infty} \emptyset_{n}(x)=f(x)+J_{a}^{b} k(x, t) \sum_{n=0}^{\infty} \emptyset_{n}(t) d t \\
\operatorname{Let} \emptyset_{0}(x)=e^{x}+1 \\
\emptyset_{n+1}(x)=\int_{0}^{1} \sum_{n=0}^{\infty} \emptyset_{n}(t) d t
\end{gathered}
$$

This implies $\emptyset_{0}(x)=e^{x}+1$

$$
\emptyset_{1}(x)=\int_{0}^{1} \emptyset_{0}(t) d t
$$

$$
\begin{aligned}
& \quad=\int_{0}^{1}\left(e^{t}+1\right) t d t \\
& \quad=\int_{0}^{1}\left(t e^{t}+t\right) d t \\
& =\int_{0}^{1} t e^{t} d t+\int_{0}^{1} t d t \\
& =t \int_{0}^{1} e^{t} d t-\int_{0}^{1} e^{t}+\int_{0}^{1} t d t \\
& =\left[t e^{t}-e^{t}+\frac{t^{2}}{2}\right]_{0}^{1} \\
& \quad=\left(1 . e^{1}-e^{1}+\frac{1}{2}-0+1-0\right) \\
& =1+\frac{1}{2} \\
& \quad=\frac{2+1}{2} \\
& \quad \emptyset_{1}(x)=\frac{3}{2} \\
& =\int_{0}^{1} t \cdot \frac{3}{2} d t \\
& =\frac{3}{2} \int_{0}^{1} t d t \\
& =\frac{3}{2}\left(\frac{t^{2}}{2}\right)_{0}^{1}
\end{aligned}
$$

$$
\begin{aligned}
& =\frac{3}{4}(1) \\
& =\int_{0}^{1} \frac{3}{4} t d t \\
& =\frac{3}{4} \int_{0}^{1} t d t \\
& =\frac{3}{4}\left(\frac{t^{2}}{2}\right)_{0}^{1} \\
& =\frac{3}{8}
\end{aligned}
$$

$$
\begin{gathered}
\emptyset_{2}(x)=\frac{3}{2^{2}} \\
\emptyset_{3}(x)=\int_{0}^{1} \emptyset_{2}(t) d t
\end{gathered}
$$

$$
\begin{gathered}
\emptyset_{3}(x)=\frac{3}{2^{3}} \\
\emptyset(x)=\emptyset_{1}(x)+\emptyset_{2(x)}+\emptyset_{3}(x)+\cdots \\
\emptyset(x)=e^{x}+1+\frac{3}{2}+\frac{3}{2^{2}}+\frac{3}{2^{3}}+\cdots
\end{gathered}
$$

## Conclusion

The aspire of this paper is to employ the Adomain Decomposition Method for solving the Fredholm Integral Equation. It can be visibly seen that decomposition method for the Fredholm Integral Equation is equivalent to consecutive approximation method.Even though the Adomain decomposition method is very burly and useful tool for solving the integral equations.

## References:

1. P.L.Suresh, D.Piriadarshani, "Solution of various kinds of Riccati differential equation using Differential Transform Method", Global Journal of Pure and Applied Mathematics, Vol:12, No.3,pp:418-422, 2016.
2. F. Mirzaee, "Differential Transform Method for solving Linear and nonlinear systems of Ordinary Differential equations," Applied Mathematical Sciences, Vol.5, no.70, pp. 3465-3472, 2011.
3. I H Abdel-Halim Hassn , "Applications to differential Transform method for solving system of Differential equations," Applied Mathematical Modeling. Vol.32, pp: 2552-2559, 2007.
4. S. Moon, A. BhagwatBhosale, "Solution of Non-Linear Differential Equations by Using Differential Transform Method," International Journal of Mathematics and Statistics Invention (IJMSI), Vol. 2, pp: 78-82, 2014.
5. S. Mukherjee, B.Roy, "Solution of Riccati Equation with co-efficient by differential Transform method Solution", Academic, 2012. Vol 14, No.2, pp:251-256.
6. J Biazar, M Eslami, "Differential transform method for Quadratic Riccati Differential Equation,", Vol.9, No.4, pp: 444-447, 2010.
7. Caputo, M., 'Linear models of dissipation whose Q is almost frequency independent -II", Geophysical Journal International, 13(5), pp:529-539,1967.
8. Erturk.V.S, Momani,S and Odibat .Z," Application of generalized differential transform method to multi-order fractional differential equations", Communications in Nonlinear a Science and Numerical Simulation, Vol:13, No:8, pp:127-135, 2008.
9. P.L.Suresh, D.Piriadarshani, " Numerical Analysis of Riccati equation using Differential Transform Method, He Laplace Maethod and Adomain Decomposition Method", Global Journal of Mathematical Sciences: Theory and Practical. ISSN 0974-3200, Volume 9, Number 1, pp. 31-50, (2017)
